Returns

9.1 One year ago, you bought 500 shares of Webster, Inc. stock at $37 per share.  You just received a dividend of $1,000 and Webster stock now sells for $38.  

a. How much did you earn in capital gains?

b. What was your total dollar return?

c. What was your percentage return?

d. Must you sell the stock to include the capital gain in your return?

9.2 One year ago, Mr. Seth Cohen invested $10,400 in 200 shares of First Industries, Inc. stock and just received a dividend of $600.  Today, he sold the 200 shares at $54.25 per share.

a. What was his capital gain?

b. What was his total dollar return?

c. What was his percentage return?

d. What was the stock’s dividend yield?

9.3 You purchased a stock one year ago at $42 per share.  The stock just paid a dividend of $2.40 per share.  Today, you sold the stock at $31 per share.  What is the percentage return on this stock? 

9.4 Lydian Stock currently trades at $52 per share.  You intend to buy the stock today and hold it for two years.  Two years from today, you expect to sell the stock at $54.75 per share.  What is the expected holding period return on the stock?

9.5 Calculate the average real annual returns for each of the following asset classes using the information below:  

	Series
	Mean of Annual Total Return (1926-2002)

	Large Company Stocks
	  12.2%

	Long-Term Corporate Bonds
	6.2

	Long-Term Government Bonds
	5.8

	U.S. Treasury Bills
	3.8

	Inflation
	3.1


a. Large-company stocks

b. Long-term corporate bonds

c. Long-term government bonds

d. U.S. Treasury bills

9.6 Suppose the current interest rate on U.S. Treasury bills is 2 percent.  The average return on Treasury bills from 1926 through 2002 was 3.8 percent.  The average return on common stocks during the same period was 12.2 percent.  Given this information, what is the current expected return on common stocks.  

9.7 Two years ago, General Materials and Standard Fixtures’ stock prices were the same.  Over the first year, General Materials’ stock price increased by 10 percent while Standard Fixtures’ stock price decreased by 10 percent.  Over the second year, General Materials’ stock price decreased by 10 percent and Standard Fixtures’ stock price increased by 10 percent.  Do these two stocks have the same prices today?  Explain.  

9.8 Using the returns for the period 1981 to 1985 listed below, calculate the five-year holding-period return on the S&P 500 index.

	
	1981
	1982
	1983
	1984
	1985

	S&P 500 index return (%)
	-4.91
	21.41
	22.51
	6.27
	32.16


9.9 The Wall Street Journal announced yesterday that the current rate for one-year Treasury bills is 2 percent, while the historical average annual return on Treasury bills for the period from 1926 through 2002 was 3.8 percent.  During the same period, the average return on long-term corporate bonds was 6.2 percent.  What is the historical risk premium of the long-term corporate bonds?  What is the expected return on long-term corporate bonds?

Average Returns, Expected Returns, and Variance

9.10 The returns on both a portfolio of common stocks and a portfolio of Treasury bills are contingent on the state of the economy, as shown below.  

	Economic Condition
	Probability
	Market Return
	Treasury Bills

	Recession
	0.25
	-8.2%
	3.5%

	Normal
	0.50
	                  12.3
	            3.5

	Boom
	0.25
	                  25.8
	            3.5


a. Calculate the expected returns on the Treasury bills and on the market.

b. Calculate the expected risk premium.    

9.11 During the past seven years, the annual returns on a portfolio of long-term corporate bonds were:

	Year
	Long-Term 

Corporate Bonds

	-7
	   -2.6%

	-6
	-1.0

	-5
	43.8

	-4
	  4.7

	-3
	16.4

	-2
	30.1

	Last
	19.9


a. Calculate the average return for long-term corporate bonds over this period.

b. Calculate the variance and the standard deviation of the returns for long-term corporate bonds during this period.  

9.12 Below are the returns during the past seven years on a market portfolio of common stocks and a portfolio of Treasury bills.  

	Year
	Common

Stocks
	Treasury

Bills

	-7
	   32.4%
	   11.2%

	-6
	-4.9
	14.7

	-5
	21.4
	10.5

	-4
	22.5
	  8.8

	-3
	  6.3
	  9.9

	-2
	32.2
	  7.7

	Last
	18.5
	  6.2


The realized risk premium is the return on common stocks less the return on Treasury bills.  

a. Calculate the realized risk premium of common stocks over Treasury bills in each year.  

b. Calculate the average risk premium of common stocks over Treasury bills during the seven-year period.

c. Is it possible for the observed risk premium to be negative?  Explain.

9.13 The probability that the economy will contract is 0.2.  The probability of moderate growth is 0.6, and the probability of a rapid expansion is 0.2.  If the economy contracts, you can expect a return on your portfolio of 5 percent.  With moderate growth, your return will be 8 percent.  If there is a rapid expansion, your portfolio will return 15 percent.

a. What is your expected return?

b. What is the standard deviation of the return?

9.14 Below are the probabilities for the economy’s five possible states next year, with the corresponding returns on the market and on Trebli, Inc. stock.  

	Economic Condition
	Probability
	Market Return
	Trebli Return

	Rapid expansion
	0.12
	0.23
	0.12

	Moderate expansion
	0.40
	0.18
	0.09

	No growth
	0.25
	0.15
	0.05

	Moderate contraction
	0.15
	0.09
	0.01

	Serious contraction
	0.08
	0.03
	-0.02


a. What is the expected return on the market?

b. What is the expected return on Trebli stock?

9.15 Four equally likely states of the economy may occur next year.  Below are the returns on the stocks of Belinkie Enterprises and Overlake Company under each of the possible states.  

	State
	Belinkie Enterprises
	Overlake Company

	1
	0.04
	0.05

	2
	0.06
	0.07

	3
	0.09
	0.10

	4
	0.04
	0.14


a. What is the expected return on each stock?

b. What is the variance of the returns on each stock?

9.16 Tabulated below are the returns from 1935 through 1939 on small-company stocks and on the S&P 500 composite index of common stocks.

	Year
	Small-Company

Stocks (%)
	Market Index of

Common Stocks (%)

	1935
	   47.7
	40.2

	1936
	 33.9
	64.8

	1937
	-35.0
	-58.0

	1938
	31.0
	32.8

	1939
	-0.5
	0.4


a. Calculate the average return for the small-company stocks and for the market index of common stocks.  

b. Calculate the variance and standard deviation of the small-company returns and the market index returns.  

9.17 Annual returns from 1980 through 1986 on common stocks, small-capitalization stocks, long-term corporate bonds, long-term U.S. government bonds, and U.S. Treasury bills are presented below:  

	Year
	Common

Stock
	Small

Stocks
	 Long-Term

  Corporate

     Bonds
	Long-Term Government

Bonds
	U.S.

Treasury

Bills

	1980
	0.3242
	0.3988
	-0.0262
	-0.0395
	0.1124

	1981
	-0.0491
	0.1388
	-0.0096
	0.0185
	0.1471

	1982
	0.2141
	0.2801
	0.4379
	0.4035
	0.1054

	1983
	0.2251
	0.3967
	0.0470
	0.0068
	0.0880

	1984
	0.0627
	-0.0667
	0.1639
	0.1543
	0.0985

	1985
	0.3216
	0.2466
	0.3090
	0.3097
	0.0772

	1986
	0.1847
	0.0685
	0.1985
	0.2444
	0.0616



Calculate the average return and variance for each type of security.  

9.18 Annual returns from 1986 to 1991 on small-company stocks and U.S. Treasury bills are presented below:  

	Year
	Small-Company

Stocks
	U.S. Treasury

Bills

	1986
	   6.85%
	6.16%

	1987
	-9.30
	5.47

	1988
	22.87
	6.35

	1989
	10.18
	8.37

	1990
	-21.56
	7.81

	1991
	44.63
	5.60


a. Calculate the average returns on small-company stocks and U.S. Treasury bills.

b. Calculate the variances and standard deviations of the returns on small-company stocks and U.S. Treasury bills.

c. Compare the returns and risks of the two assets.  

9.19 Suppose International Trading Company’s stock returns follow a normal distribution with a mean of 17.5 percent and a standard deviation of 8.5 percent.  What is the range in which roughly 95 percent of the returns fall?

